RN YA — Serdusy amrT UyutyHET HiE
qut yRfTe ferg |, o A
Te-% Weliel Teaden s’ 9iet 9= 2011

AREF USTHIST WIAUTAET.

A FAE |

famis ¢ 26/02/2012 a4z : 11.00 7 13.00 THOT ToT ¢ 180
AT : 1) T W T HElE #ieE A,

2) faf'ts i STaeied! STUTIHT WAAq0l Riauid Jge.

3) URdeh SEATAT 2 TUF 3T, UHT 90 we.

4 ¥ Uehdiel Tal 3 USSR,

G we

ysT . | Pick up the correct synonym.

Apprehension :

A)  anxiety B) adverse

O awareness D) admire
g 3. 2 : Pick up the correct antonyms for each of the following

question no.2&3

Abhor :

A) beg B) borrow

C)  snatch D) appreciate
yea #%. 3 : Ferocious :

A)  impoverish B) gentle

C)  deceptive D) wicked
gs®. 4 : Pick out the word with correct spelling

A) acurrate B) accurate

C)  acurate D) accurrate
gsT®. 5 : Make the sentence in indirect speech

The manager said,”well,what can i do for you?”

A) The manager asked what he could do for him.

B) The manager woundered what he could do for him.

C) The manager wanted to know what he could do for
him.

D) The manager said that he couldn’t do anything for
him.
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W3 .

I oh.

W3 oh.

"3 .

I oh.

"3 oh.

W3 oh.

I sh.

W3 k.

W3 oh.

10

11

12

13

14

15

A)  3em B) /et
C) 3 D) q@EeEr
= O CRI RG] SRR RURIICE ]
GIEI
A) =T B) sweA
C) wdTEg D) e
=i & - T T TR
A)  ued B) &M
C) o&T Wl D)  m&r
TSI TRET STHTGHET TITAT - ---- T et 3T
A) TER B) o feedl
C) WEHAMeT D) w3
SRR ST Sa] JISIUarEET .......... AR
A) O B)  EEuERR
C)  dfemmie D)  cieHeY
WA 81 U3 WA Saies 3R
A) g B)  ypeEamwir
C) qu D) ﬁ?{ﬁﬁﬂﬂ
HRAEE § =wvmmmmmv a7 YR e Wi 3R
A)  IgmfEm B) s
C) d« D) o1ve
© U foleR uiva 9. 3.
A) 1.50 /.71 B) 1.00 5.7
O) 1.25 &, D) 090 f&.1.
: WIGITTIh! THEwH H1aI0d ST S FIvTe ?
A) wFE B) w3
C) < D)  mge

D BT (TR AT GeATS FREETT WIEAAIRT oy

TLTeHT FEh1a- IRV 3 378 2
A) W B) W
C) fseo D) suH
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U3 o,

U3 b,

U3 sh.

W3 b,

U3 b,

U3 .

W3 oh.

16

17

18

19

20

21

22

. Tt Froeear 9710 wamora =i SR SRl TRt

Fedr, T2 Taet Tordr Zoh AT faaten ?
A)  25%FF B) 30 Z=h
) 35 Tk Dy 20 TR

. Tl =Y YRSl 5 EUH 3 ON™ UST {EHdY WIS

£.1200/- g4, @) 9 {FHY o SEEEY & g0

TS AT TRl Blsel 2

A) 1362 B) 1261

O 1160 D) 1059
. fead wer? Log 7 (1/343)

Ay (-3) By (-4)

C)y (-6) Dy (-5)

. U T o EEleAT gue %, ol 5 FHIA s

Fegr o BE 5 GHY A STelaed Il Sk
75 Oy 3 918 € aX AEdre) sy ot w1

A) a0 B) 30
c) 20 D) 10
. GIea] ¢
(489 + 375)° - (489 - 375)°
(489 X 375)
A) 144 B) 864
C) 2 D) g4

. A, B, C, D FFT R 5 :2:4:3 A1 YW Sl T0RH

qEvATE At R C @ D gem 1000 /- W et
T, B & et e e ?

A) 2000 B) 3000

C) 4000 D) 5000

. TF g B, 27.50 o faweae 10 s wEEl g, ST

F9 g & 25.75 ° foweaw ol Toh wERT
AR T ?

A) 5 TF AW B) 2 ¥&h dEn

C) 3 ZFh AW D) 4 ek qer
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St

= w14 A TG I UGTeRT STErEon-ar fauest asaieh
Frreia e,
A) T e B) wrHER W
C) i T D) Heveme s
WAH. 15 1 RArA ULUAREE SEEERTS SR - qefT T TEE
A) 259 B) 304y
C) 35= D) 40 9§
\ U E. 16 T A oo It Haifer e,
A) B) /e
C)  &® D) @
SRS =N WANNERIR: 7 i< U115 s (ler G o e s 11 SO a1 R
AT
A) e B) =TT
C) =g D) ameAErRT
WA . 18 RIS & e T TR 3R,
A) gt B)  w=am
C) &= o D) T&r
WA E. 19 TR T SEREIA AT < wmemmmeee e T Hetelt e
A)  EET B) et feeet
C)  wsHaen D) wEe g
WA ®. 20 eTRYEH FEOTE O HISTUA@Ey TR
A)  UERIHRY B)  sEmiiEx
C)  dfemmey D) o
Y F. 21 Greierd® @ WY ST gats AR,
A) widge B)  ypgumit
C)  um D) ity
TAF. 22 GRS B oeeeeooe- AT T AT Wit .
. A)  FiegmtE B) s
C) dae D) auw
WHF. 23 U o U e, 3.
A) 150 . B) 1.00 %7,
C) 1.25 &, D) 090 &,
T . 24 G Reen $1EvvT STl gg ot
A) TpE B) wErEy
C) i D) e
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U¥T oh.

93 oh.

93T 5.

"I oh.

U¥T oh.

W3 oh.

U¥T oh.

"I oh.

25

26

27

28

29

30

31

32

. ST (ST it TeTE FRET Geferde! Hiowedr

{TSTeAT WeshTa SHRUAT 3Tl AR ?

A) TR B) WA
C) TsreA D) U=
. et Reereitear 9710 wHTONE HFE IR FERCE GLRT e,
a2 Taer &l oo %1 W32
A) 25 29 B) 30 zw
C) 352F D) 20 FF

. e % YEE 5 SR 3 ON™ T EHY WS

£.1200/- BF W E THEHY oY SeedE e SO
TohaTE ST Tehdl B5eT 7

A) 1362 B) 1261

C) 1160 D) 1059
. fFma wer?  Log 7 (1/343)

A (-3) By (-4)

) (-96) Dy (-5)

. WehT AT AT GareN U R, T 5 HHH HH! Hed

7T BT 5 W 3 Aefaear STEae sawame 75 e

I o5 BT aF SNgaTey oTe ford T 2
A) 40 B) 30
C) 20 D) 10
. e (489 + 375)° - (489 - 375) °
(489 X 375)
A) 144 B)  g64
c) 2 D) g4

2A,B,C,DW3¥§$‘35:2:4:3¢ITWW$I’(&W

AT S S C o D Wen 1000 /- SR MHesTet o,
B & el Tam ettt 2

A) 2000 B) 3000

O 4000 D) 5000

. e e ®, 27.50 @ fawmey 10 ZofF wrEE gat, S) a9

WK.ZSFSW%W%%HWWWW
gisat ?

A) 5 ZEH AR B) 2 2%F e

C) 3 g% A% D) 4wk qrel
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St

Ve

HH A AR [EH T HULT T ML e Ry e,
eT WA BT T AT Hie YT AR, € el |WiEen
Qad SR, O T ®UN 9%, FER o SdET Gl a1 el

U %, 34 2. STeEsEl I a9 HivTET?
(A) fe=m (B) @y
(C) 3=t (D) oder Ha.
e . 35 ¢ Bl AREHAA HE WS GUSTEET hell?
(A)  vgrn 9T & suarel (B)  RUmi@!
et
(C) Sggdam (D) ol Rt
T %. 36 el sideEtd I T S0 2
(A) &, THRME, FaR (B) w7, ®aR @ S

Ed
(C)  Sifdien o, witfeessh, (D) T9EM, T Y o
HETCAT et qE
T . 37 1 Bl SIS UATHR HUTHT SHUATEE] SR
FHIME] AT AT 3 2
(A)  amErED (B) gHwRR
(C) fom=ht (D) et
T . 38 TN STdSHU HINY SET 3R
(A) =% (B) Tome
(C) Feowe (D) dme

T %, 39 HIUET UIS OUIE fSHd AR a1 e 9rg 21l i ?
A) anqwqﬁwgas B) g o e
a e
C) w@II™fEaR D) TS T TR g
0! T4 TGO 0T S0y
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geT . 40 : TS aE T o FIAR. & AT U YRR 3 ?

A)  Toummd B) gyt

C) Egw 9 D) et
uvT @, 41 Pick up the correct synonym.

Apprehension :

A)  anxiety B) adverse

C)  awareness D) admire

goq &. 42 : Pick up the correct antonyms for each of the following
question no.2&3

Abhor :

A)  beg B) borrow

C) snatch D) appreciate
w9 . 43 . Ferocious:

A) impoverish B) gentle

O deceptive D) wicked
v %. 44 - Pick out the word with correct spelling

A)  acurrate B) accurate

O acurate D) accurrate

oy %. 45 : Make the sentence in indirect speech
The manager said,”well,what can i do for you?”
A) The manager asked what he could do for him.
B) The manager woundered what he could do for

him.

C) The manager wanted to know what he could do
for him.

D) The manager said that he couldn’t do anything for
him.

Read the passage given below & answer the ¢.no 46 to 50

There is an English proverb,” time and tide wait
for no man.” This is Only an effective way of expressing
the importance of punctuality. Suppose we have to do a
certain work on a particular morning at 8 o’clock and we

get up too late, the hour has passed away and that
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St

T3 .

31 .

T3 5.

U3 5.

M3 %h.

T3 .

44

45

46

47

48

49

U A RN, G T HU=T A T A T e
vIieT HAET BT T WIS e TR SR ¥ HelT G
A . A TS WS R, A T S Ee a7 g2

ot e YrerYe TR A,
€. FHlSEHIT IUT ST PV ?
(A) T (B)  w@hygm
OB (D) a0 9

Q) T awH (D) wrsit et

: gl STSEEIE T TE iR 2

(A) =, G H, %R (B) 97, FER o S w

(C)  Hreftar wet, =, (D) ImE, Here mef o
fea, Ei
TETEAT el

FIME FETIRAT AR 7

(A)  aarEh (B) gowrRi

(C) fa= (D) @Y
: Bl ST I FHT R 7

(A) TEF (B) Tome

(C) Toaue (D) di

L e OIS aoii fowa AT A reviar AT a7 o ?

A) ST TR TS B) e g fe
Tt
C) wH wa=™ fear D) T R I U 74

ot EUH T w0
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T .

94 o,

T .

3 .

T3 b,

T .

W3 .

T o,

50

51

52

53

54

55

56

57

. TTE TSIl G N AN, § a1 ST FehRE 1 ?

A)  TeumTd B) gyt
C) W A D) repmredt
HATEATAE T

: What do you mean by CAD?

A) Computer application  B)  Computer added

data drawing
C) Computer aided D) Civil application
drafting drawing.

- Steel is an alloy of which of these materials ?

A) TIron and Aluminium B) Iron and Chromium
() TIron and Nickel D) Iron and carbon

command creates multiple copies of selected

objects in rectangular or polar form.

A) Oops B) Fillet
) Chamfer D) Array.

: In a drawing long breaks are shown by

A) dashed lines of B) thin ruled lines with
medium thickness short zigzags within
themn
C) thick continuous line D) alternately long & short
dashes.

: PERT analysis is based on

A) anoptimistic time B) pessimistic time
C) Most likely ime D) all of the above

- The ratio of the length of the drawing of the object to the

actual length of the object is called .
A) representative fraction B) resulting fraction
C) representative figure D) resulting figure

- The curve generated by a point on the circumference of a

circle rolling along a straight line is called a
A) ellipse B) cyclod
C) hyperbola D) involute
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St

W3 sh. 55

TRT . 56

WA sh. 57

9 %h. 58

W sh. 59

T34 sh. 60

T . 61

T . 62

: To resist centrifugal force, the outer edge of a road is

generally raised above the inner edge. This is known as

A) super elevation B) camber
C) shoulder D) gradient
: The s used for finding out areas of jrregular figures
on sheet.
A) planimeter B) digital theodolite
C) compass D) EDM.

. Slope of the line joining the crown and edge of the road

surface 1s known as
A) gradient B) camber
C) shoulder D) super elevation

technology is a fast & accurate method of
determining the locations of any point of interest anywhere
on the face of earth at any time during the day or night.

A)  Geographic B)  Global positioning
information system(G.P.S.)
system(G.L.S.)

C) Aerial survey D) none of these

- In which leveling only back sight and fore sight readings

are taken continuously shifting the level?
A) Fly levelling B) Reciprocal levelling
C) Cross sectioning D) Differential levelling

: Which government organisation prepares toposheets?

A) Public Works B) Water Resources
Department Department

C) Agriculture D) Survey of India
Department

: Toposheet does not contain information about

A) roads B) canals
C) population D) settlements
: Which is quite likely to be the scale for a toposheet?
A) 1:1 B) 1:50
C) 1:500 D) 1:50,000

10
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usT &, 63 :R.L. is short form for

A) reference level B) reduced level

C) ranging level D) reduced landmark
o %, 64 : Vertical axis of level is perpendicular to

A) line of collimation B) axis of level tube

C) object D) leveling head

g %. 65 : Why permanent adjustment of duimpy level is necessary?

A) to adjust peg of tripod  B)  to correct
fundamental relation
C) to adjust height of D) none of these
telescope

g &, 66 :Contour is an imaginary line joining points having equal

A) B.S. B) LS.
C) R.L D) FE.S.
o %. 67 : Convert whole circle bearing 143°30" to quadrantal bearing
A) N 143°30°E B) S36°30°E
C) S37°30°E D) N36°30°E

Following table shows some reading in a check leveling work
(started & ended on same B.M.). Calculate the missing readings
shown as A,B,C,D,EF,G,H.

;ro 8S |1S. | ES. | Rise | Fall | RIL. |Remarks
1 A 463.875 | BM. |
2 ‘B’ 0.55 '’ )
30965 3.655 D E CP. 1
4 | F 1.400 ‘G | 461.885 | C.P.2
5 1025 | Il 463.875 | B.M. 1

Check

T % 68 A=
A) 3.150 B) 2.150
C) 2.100 D) 1.100

11
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Ut . 75

Y &%, 76

yeT . 77

: Why permanent adjustment of dumpy level is necessary?

to correct fundamental
relation
D) none of these

A) toadjust peg of tripod  B)

C) to adjust height of
telescope

: Contour is an imaginary line joining points having equal

A) B.S. B) LS.
C) R.L. D) FS.
: Convert whole circle bearing 143°30" to quadrantal bearing
A) N 143°30°E B) S 36°30°E
C) S37°30°E D) N36°30°E

Following table shows some reading in a check leveling work
(started & ended on same B.M.). Calculate the missing readings
shown as A,B,C,D,EF,G.H.

BS. | IS, | F.S. | Rise | Fall R.L. Remarks
‘A’ 463.875 | BM. |
‘B’ 0.55 ‘C’
0.965 3.655 ‘D’ ‘E’ C.P. 1
‘F 1.400 ‘G’ | 461.885| C.P.2
_ 1.025 | ‘H’ 463.875 | B.M. 1
Check j
U F. 78 : “A=7
A) 3.150 B) 2.150
C) 2.100 D) 1.100
WA %79 : ‘B =2
A) 2.650 B) 1.550
C) 2.105 Dy 2.550
U F 80 : ‘{C =7
A) 463.875 B) 464.425
C) 4600915 D) 463.325

12
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3 .

A b,

A .

T sh.

e .

T .

LS C R

U .

81

82

83

84

85

86

87

8¥

D=7
A) 2.105 B) 2.055
C) 3.105 D) 2.205
B =7
A) 462.32 B) 460.22
C) 463.875 D) 463.12
F =7
A) 3.800 B) 2.365
C) 0435 D) 3.015
G =?
A) 0335 B) 1.400
C) 0.435 D) 2.255
c'H' =7
A) 1.990 B) 2.540
C) 1.100 D) 1.025

is a modern method of surveying in which

information about an object or an area is done through the

analysis of the data by a device without being in contact with
the object or the area.

A) Remote sensing B) E.D.M.

C) Digital theodolite D) Digital planimeter
:R.M.C. means

A) raw mix concrele B) ready mix concrete

C) rolled mix concrete D) ready metal concrete

is the ratio of total built up area for the building

(taken together) to the total plot area.

A) Developmentcontrol ~ B)  Superindex
C) Floor space index D) Carpet area

13
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I 3, 86

WA . 87

9 . 88

Usq %, 89

7T . 90

: The ratio of the length of the drawing of the object to the
actual length of the object is called .
A) representative fraction B) resulting fraction
C) representative figure D) resulting figure

: The curve generated by a point on the circumference of a
circle rolling along a straight line is called a
A) ellipse B) cycloid
C)  hyperbola D) involute
: In projection method the top view is always
above the front view.
A) First angle projection  B)  third angle projection

method method
C) Second angle D) fourth angle
projection method projection method

: Total station is what kind of instrument?

A) Hydraulic B) Mechanical
C) Optical D) None of these.
: Ideal method of holding bow pen is at an angle.
A) 30° B) 80°
C) 90° D) 60°
-: wea feuomarat s -

14
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